Algebra RH
Essential Question: How do we solve quadratic equation word problems?

Do Now: Solve the following word problem using a quadratic equation.

o X ‘
If the square of a number is added to 5 times the number, the result is 36. Find the number.
X = 4 humber = I-fJ -9 X%+ 5% -3( =0 check
. \Z _ B
, (x+9) (x-4)=0 (-9) * 5(-1)= 3¢
TSt e A 2(-45 = 306
x+f;=-ol X4 =0 2W=36 V
x=-q | x=4 ()2 +504) =3¢
32 =36 v
Solving Word Problems using Quadratic Equations
1. Find two positive numbers whose ratio is 2:3 and whose pr-oducf is 600.
Led 2% = Ist positive number =2(10) =20 Zx(Sx) 600
Let 3X= 2nd positive aumber =3¢10)=30 by2 =600
*,(2 = 0O

2. When the first of three positive consecutive integers is multiplied by the third, the result is
one less fhanjsix times the second. Find the integers.

B A’ X(x+2)= 6 (x+1) =1
Let X = Ist poditive con. m+ej er=5 y242y=6tx+6-1
Le4 xtI= 2nd positive (on. INte4er=6  y242x-4x=5
let x+2< 2rd POJ:—]-W"( con. integer-7 )(2-‘/)('""5‘:'0
J (x-5) (x+1)=0
X3=¢] x—}i,é/reJ&_}

X= x==)
3. The sum of two numbers is 10. The sum of their squares is is 52. Find the numbers.
Lek X = 6ne number =6 (x)? + (’0 -x)%= 52
lei [0-%= obher number =4 xz + (lo-x) (io- "‘)2 o
XZ + 100~ 2ox T X#=52
2x? -20x + 4§ Cff
(x=6) (x-4) =0
X=b | xX=4-
4. The perimeter of a r‘ectangle is 20 in., the area is 16 in®. Find the dimensions of the rectangle.
= width=23 jo-x= length= y (jo- x)*lco

/ P= Zom( ,Zw"‘f'Zf 8,2 (0x-x2=1b
= o S0y >p= 2x +24 Z-10%+]b =0
20=2x+24 | (x—é’)(x—.-?):O
ZO“ZXSZ«? ‘)(-330.)(“‘2:0

0~ x =X X=8 | X=2



